SMS/\—94 7T 5
S D'G(gom) D_G]I(GOGD)

RoHS$E B HCHE M
%2018 12H31HEETE

B ERENIN—=FI AL TD7 V¥ AP —TT,

=y aoit— FuES A—ILATU LR

#MER:5~7H #hHA:5~7H
it & & 1, 000kgf i #r & 1, 000kgf
H B ‘k)le Fv f~ ggéoomé ## =1 ‘I?)lzh Fv I~ ggg304$§é
(7\9'-1// 79*/1/.:.5,%:1.&) (Z?’-I// 7’;“*/1/:.152:!.&)
=EANE =@orBaA—+ REWLE /KO R—F
[ ke el mA &
ZMERIZTLAN—%FFERA, PITHENA>TVET, OWIREBOHBEICELTULET,
X LEXEERLET,

XION—HRIHT S IR
IN—HEODODNTOrv XA —HRIL FMZBELEL T,
BEHLFIDOT, BHEMTER, 5I1EF oY LEGLEK
SITHEREVELEY,

G &

S@M20X=FBR A-IL2TYL 2B

D-G16X 65 - M16X2. 0 65 | 105 | 10 | 30 90 24 | 450
D-616 100 D-G16 100SUS M16X2. 0 100 | 140 | 10 | 30 90 24 | 500
D-616 130 D-G16 1305US M16X2. 0 130 | 170 | 10 | 30 90 24 | 540
D-616 150 D-616X 1505US M16X2. 0 150 | 190 | 10 | 30 90 24 | 560
D-616 180 D-G16 180SUS M16X2. 0 180 | 220 | 10 | 30 90 24| 600
D-616X200 = M16X2. 0 200 | 240 | 10 | 30 90 24| 630
D-620X 100 D-620 100SUS M20X2. 5 100 | 143 | 13 | 30 90 30 | 650
D-620X 130 D-620 1305US M20X2. 5 130 | 173 | 138 | 30 90 30 | 710
2 D-620X 150 D-620 X 1505US M20X2. 5 150 | 193 | 13 | 30 90 30 | 760
, D-620 180 D-620 180SUS M20X2. 5 180 | 223 | 13 | 30 90 30 | 820
T | D-620X200 - M20X2. 5 200 | 243 | 13 | 30 90 30 | 860
= w11 D-GLI6X 65 - M16X2. 0 65 | 100 | 10 | 25 | 60 | 24 | 210
i L D-GII16X 100 D-G 116 X 100SUS M16X2. 0 100 | 135 | 10 | 25 60 24| 320
| D-GI16X 130 D-GII16 X 1305US M16X2. 0 130 | 165 | 10 | 25 60 24| 360
! L2 D-G N6 X 150 D-G 6 X 150SUS M16X2. 0 150 185 | 10 25 60 24 | 380
| D-GII16 X 180 D-G 116 X 180SUS M16X2. 0 180 | 215 | 10 | 25 60 24| 420
) == ” D-GIT16 X 200 - M16X2. 0 200 | 235 | 10 | 25 60 24| 450
Lt . p D-GII20 X 100 D-G 20X 100SUS M20X2. 5 100 | 138 | 138 | 25 60 30 | 480
. | D-GII20 X 130 D-G 120X 1308US M20X2. 5 130 | 168 | 138 | 25 60 30 | 540
; D-GI20 X 150 D-G 1120 X 150SUS M20X2.5 150 188 13 25 60 30 580
oy D-GI120 X 180 D-G 1120 180SUS M20X2. 5 180 | 218 | 13 | 25 60 30 | 640
D-G 1120 X 200 - M20X2. 5 200 | 238 | 13 | 25 60 30 | 680

I XRYFET,

ADJUSTER BOLT



